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function [ceX, ceY, eX, eY]

if (nargin

end

p— )
N=1;

if (nargin < 2)

end

[filename , pathname]

detectCenter (N, filename , pathname)

uigetfile (sprintf( %s’ ,...

Trotxt 7)),

)

[coordx, coordy, datax, datay] = scanfile(filename , pathname);

[x,

y, u, v
pas

Xmoy
ymoy

[1;
= 11s

ecartx
ecarty

[1;
[;

copyobj(gef,0);
hold on;

((coordx (i)—x1(1))"2 + (coordy(i)—yl1(1))

analyseField (filename , pathname);
coordy (2)—coordy (1) ;

—datay (L2(i)); —datax (L1(

—coordx (L1(i))

quiver(x, y, u’, v’);

for i = 1:N

[x1,yl] = ginput(2);

L1 = [];

L2 = [];

for i = l:size(coordx)
if

L1 = |L1, i[;
end
if
L2 = [L2, il;

end

end

NX = [];

NY — [];

X 1 = [];

dY 1 = [];

dX 2 = [];

dY 2 = [];

for i = l:min(length(L1),length(L2))
A = [datay (L1(i)),
B = [coordx(L2(i))
D = A\B;

NX = [NX, coordx(L1(i)) + D(1)=datay(L1(i))]
NY = [NY, coordy(L1(i)) — D(1)xdatax(L1(i))]

dX 1

dy_1

[dX 1 ; coordx(L1(i)) + datay(L1(i))
[dY 1 ; coordy(L1(i)) — datax(L1(i))

i
; coordy (L2(

~2) < b*pas”2

((coordx (i)—x1(2))"2 + (coordy(i)—y1(2))"~2) < 5xpas”2

)), datax (L2(
i))—coordy (L1

(

)

)
)

]
) |

)



end

dX 2 = [dX 2 ; coordx(L2(i)) + datay(

L2(1))*[0:1:NX
dY 2 = [dY_2 ; coordy(L2(i)) — datax(L2(i))*[0:1:NX
plot (dX_1(i,:), dY_1(i,:));
plot (dX_2(i,:), dY_2(i,:));
end

Y

xmoy = [xmoy, sum(NX)/length (NX) ];
ymoy — [ymoy, sum(NY)/length (NY) ]|

ecartx = [ecartx, sqrt(sum(NX."2)/length (NX)—xmoy."2)
ecarty = [ecarty, sqrt(sum(NY.”2)/length (NY)—ymoy."2)

plot (xmoy, ymoy, .’ , 'MarkerSize’, 15, ’Color’, ’k’);
end
range = [min(x), max(max(xmoy + 100) ,max(x)), min(y), max(max(ymoy + 100) ,max(y))];
axis (range);

if(N> 1)
axis ([min (xmoy—>50), max(xmoy+50), min(ymoy—50), max(ymoy+50)]) ;
in = input(’Combien de points voulez vous invalider 7 \n’);
if (in > 0)
in = floor (in);
inva = [];

[x, y| = ginput(in);

for i = 1:in
[c index]| = min(xmoy—x(1));
invaX = [inva xmoy(index) |;
invaY = [inva ymoy(index) |

?

xmoy (index) = [];
ymoy (index) = []

)

end

plot (invaX, invaY, .7, ’Color’, ’r’, "MarkerSize’, 15);
else
axis(range);
end
end

axis(range);

xmoy ) /length (xmoy) ;
ymoy) /length (ymoy) ;
sum (xmoy."2) /length (xmoy)—xmoy. " 2) ;
sum (ymoy."2) /length (ymoy)—ymoy."2) ;

ceX = sum
ceY = sum
eX = sqrt
eY = sqrt

NN N N

plot (ceX, ceY, '.’, ’Color’, ’b’, "MarkerSize’, 15);

hold off;



